
SO2 + O2=
FeO + O2=

Р2O5 + Н2O=
SO2 + H2O=
СO2 + Н2O=
CO2 + CaO=

Na2O + P2O5=
Na2O + H2O=
CaO + H2O=

1



C + O2=
S + O2=

Cu + O2=
Mg + O2=
CH4 + O2
H2S + O2=
Fe(OH)3→
CaCO3→
H2SiO3→

2



Na2СO3  + НСІ → NaСІ + …. + СO2 ↑
NaОН + НNO3 → …..+ Н2О
ҒеО + НСІ → ҒеСІ2 + ……

Са + 2НСІ → …..+ Н2 
SO2 + H2O = H2SO3

H2SO4 + Ca = ….. + H2↑
H2SO4 + Zn = …..+ H2↑

H2SО4 + CaО = …..+ H2О
HCl + ZnО = ….. + H2О

H2SО4 + CuО = ……+ H2О
H2SiO3 → ….. + H20

H2SО4 + BaCl2 = …..↓+ HCl
HCl + AgNО3 = …..↓+ HNО3

НСl + СаСO3 = …..+ Н2O + …..↑
HCl + NaOH = …… + H2O

HCl + Cu(OH)2↓ = CuCl2 + ….
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Мg + Сl2 = 
МgО + ЅО3 =

СаО + 2НСІ = 
СО2 + Са(ОН)2 = 

H2SО4 + 2NaОH = 
ВаСІ2 + Н2ЅO4 = 
СaCI2+Аg2СО3= 

CuЅО4+2NaОH = 
Zn+ 2HCl = 

Сu + НgCI2 =
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Fe +СuSO4 =
3KOH + Fe(NO3)3 =

СаСО3 + НCI = 
ВаCI2  + Na2SO4 =

ВаСО3 =
Na2SO4 + HCI  →

BaCI2 + Na2SO4  →
CuSO4 + NaOH  →

ZnSO4 + Pb  →
Hg +FeCL2 → 

KOH + H2SO4 → 
AgNO3 + HCL →5



АМФОТЕРЛІ  НЕГІЗДЕР

AI(OH)CI₂ + NaOH →AI(OH)₃ ↓+  NaCI
AICI₃ + NaOH → AI(OH)₃↓ +  NaCI
 AI(OH)₃ + Na₂O → NaAIO₂ + H₂O

AI(OH)₃ + NaOH →  Na₃AIO₃ + H₂O
AI(OH)₃ + SO₂ → AI₂(SO₄)₃  + H₂O

 AI(OH)₃ + H₂SO₄ → AI₂(SO₄)₃  + H₂O
 AI(OH)₃ → AI₂O₃  + H₂O
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NaOH + HCl = 
Ca(OH)2 + CO2 = 
NaOH + CuSO4 = 

Cu(OH)2 = 
NaOH + HCl =

Ca(OH)2 + CO2 =
NaOH + CuSO4 =

Cu(OH)2 =
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Na + HOH →
CaO + HOH →
NaOH + S →

AI(OH)CI + NaOH →
Ca(OH)₂ + CO₂→

Pb(NO₃)₂ + KOH →
Cu(OH)₂ + H₂SO₄ →
NaOH + NaHCO₃→

KOH + FeCI₃ →
Cu(OH)₂ →
Fe(OH)₃ →
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Ва + О2→
К + H2O→

NaOH + FeCl3→
Mg(NO3)2 + KOH→

H2O + CaO→
HCl + NaOH→

Zn + HCl→
K + O2→

CO2 + NaOH→
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Nа → Nа2О → NаОН→ NаСl.
Ва → ВаО → Ва(ОН)2→ ВаСl2

Са → СаО → Са(ОН)2→ СаСО3.
Са + H2SO4 →

 2Аl + 6HNO3 →
 Fe + 2HCl →
К + H3PO4 →

Н 3РО 4 + КОН→
НСІ + NaOH→

Н2SO4 + NaOH →
Н2SO4 + КOH →
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H2SO4 + Ca=
H2SO4 + Zn=

H2SО4 + CaО=
HCl + ZnО=

H2SО4 + CuО=
HCl + NaOH=

HCl + Cu(OH)2=
H2SО4 + BaCl2=
HCl + AgNО3=
НСl + СаСO3=

H2SiO3→11



Na2СO3  + НСІ→
NaОН + НNO3 → 

ҒеО + НСІ →   
Са + НСІ →

Н3РО4 + КОН→
НСІ + NaOH→

Н2SO4 + NaOH →
Н2SO4 + КOH →
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